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1l gx & frart Hr cersat F ST TH T $r R F 30 R T IR v F
HTTTT T TEAcHS AT J9T1 & &T%ol & HEACHS AT & 1/6 & &7 g,
o 97 FT T o= Hr FErs e 82

The sum of the lengths of the edges of a cube is equal to half the perimeter of a square. If
the numerical value of the volume of the cube is equal to one-sixth of the numerical value
of the area of the square, then the length of one side of the square is:

31.5 SehsaT
&1 31.5 units

Ans

Question ID :9864494544
Status :Answered
Chosen Option :3
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36 el

¥ 5 36 units
18 garrsaT

3 18 units
27 T

X 4 27 units

02 37 e &1 987 HL AT 7= & 712 =BT s/@er # 39T 3770m| Question ID :9864495047

Status :Answered
LViaD| 2

Chosen Option :4

"lr

Select the option that will come next in the following figure series.

LV

®
1171|IF
A B C D
Ans &A1 A

?{..2. D
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<3 B
v, C

03 FgEr # AT 5281 HIdTeaR AAIRTS IH IiAAEAr Sidel darel TUH Question ID :9864494470

Status :Answered

W El'ﬁ?l' %—7 Chosen Option :2
Who was the first Indian to win the 5274 Capablanca Memorial Chess tournament at Cuba?
Pl AR
+'1 Krishnan Sasikiran
NS AR
/5 Adhiban Baskaran
el gRepsom
/3 Pentala Harikrishna
& Adld
# 4 K Srikanth
04w & a7 Al 3myfAs 3mafdes difcer dadr # @ed & =1 gaq Question ID :9864493513
By -

Status :Answered

Chosen Option :4
In the Modern Periodic Table elements present in the same period will have the same:

Ans

UIATUGS ST
Ans
) atomic weight
~q. gh
UTATY] HEAT
xz atomic number
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el Fr gEAT

+'3 number of shells
U] T HASAA &TAAT

# 4 valence electrons

Q5 rafaf@g &7 A, 3@ Ter =T &1 999 F&-

s 0 O O
Ol <> <
O |O
S s 10 =
O <
A B & D
Select the figure that will come next in the following series.
o J 9 °
Ol < <
O |O
< O =
O <
A B C D
v1D
<, B

Question ID :9864495088

Status :Answered
Chosen Option :1
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Q.6

Ans

Q.7

Ans

<3 A

#4. C

arsT A el @ T FY 3 4 T F e 2T § wefd u=w B ¥ iy
Aoy T8 30 3 U2 7 s a7 8 UBY A F TF T Tl & 9 IST B
#T off G e A1ar g o T B A A FoA Tohadall FHT o#TT?

Pipe A can fill an empty cistern in 4 hours while along with Pipe B it can fill it up in 3
hours. Only Pipe A is turned on for an hour after which Pipe B is also turned on. How
much total time will it take to fill up the cistern?

3Ee 25 fAse
?{1_ 3 hours 25 minutes
3Ee 15 e
¥ 5 3 hours 15 minutes
3R
?{3_ 3 hours
3 T 20 fAee
?{4_ 3 hours 20 minutes
S Al S FH ZaT H TW@T AT &, Y TS AT (111) HTFHSE (Fe, 0,) Y T el
$X T T T SHR! g T AT &1 A ¢ | 7 aATeT 3 Tl T il Fed 6
When iron is exposed to moist air, a reddish brown coating of hydrated Iron (IIT) Oxide

(Fe,0,) is deposited on its surface. This reddish brown coating is called:
b

Y

?{1. dust
T
¥ o rust

Question ID :9864492711
Status :Answered
Chosen Option :2

Question ID :9864494961
Status :Answered
Chosen Option :2
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Q.8

Ans

Q.9

Ans

CIE|
?{3.imn
Ll
x4 alloy
ofg & 1S SEeT & @Y Y AT H So¢ QAT AT, & T F AT ug H
9% 3R 9T 92 HiF aqr gem?

9$YX8NEOLBUJZT@1QFD%

If the second half of the given series is reversed, then what will be the fifth term to the left
of the ninth term from the right?

9§ YXSN6OLBUIZT@1QFD%
AT
<2 0
¥s3; 6
<4.Q

2017 # e AorEmeA A &1 fher A=A & v TodT fhen
Which Malayalam actress won the National Film Award for the film ‘Minnaminungu’ in

20172
M

<, Gopika

Question ID :9864495013
Status :Answered
Chosen Option :4

Question ID :9864492363
Status :Not Answered
Chosen Option :--
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HHATT Ag=Terd

#» Mamta Mohandas
AT 9l

# '3 Amala Paul
g e

¥, Surabhi Lakshmi
Q.10 0.296 + 2.96 + 29.6 + 296 =7

0.296 +2.96 +29.6 +296 =7
Ans 1 327.856

v, 328.856
X3 328.756
4 327.756

011 sragfora Tarafae FHIEHIOT T AT FaT S ¢

An unbalanced chemical equation is called a:
hepTel THTeieh THIHIOT
', skeletal chemical equation

6 THI RS HHHIOT
# 5 rough chemical equation
FAfes TaEEAfAR FHFROT

/3 complex chemical equation
YTepaeh AT HHIHIOT

/4 natural chemical equation

Ans

Q.12

Question ID :9864494570
Status :Answered
Chosen Option :2

Question ID :9864493329
Status :Answered
Chosen Option :1

Question ID :9864494602
Status :Answered
Chosen Option :3
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AT XY dF A Emm 48 N 72 e Far & 1 Tfy
Il P T WY Well AT, a && A H Fol el FAT M 2

Two pipes X and Y can individually fill a tank in 48 and 72 minutes, respectively. If they
are opened simultaneously, how long will it take for the tank to fill?

24 e

#<1 24 minutes
60 Aae

5 60 minutes
28.8 =

¥ 3 28.8 minutes
39.4 =

#< 4 39.4 minutes

0.13 Question ID :9864495118
Status :Answered
Chosen Option :3

Ans
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TEId A W e & ge v A e d wla @ s, Bfa @

CICR B

FeTIeRT & F&T H Owom S, F Jr gy F9T 989 g, 398 F a9l
3.00 = d& ¥ 200 AT HIAT gEm|

HelHATeA:

2

1. Taged & g sfaard g
2. Tehr Refiat =t T 200 ST T g

Consider the given statement and decide which of the given assumptions is (are) implicit in
the statement.

Statement:

The class teacher announced in the class that those who are going to the museum should
deposit T 200 by tomorrow 3 pm.

Assumptions:

1. It is mandatory to go to the museum.
2. All students should deposit T 200.

gt A 1 3R 2 fafga &
#<, Both assumptions 1 and 2 are implicit.

Faor A 1 AT 2

#, Only assumption 1 is implicit.

Ans
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Far agAa 1 AR T & 2 Afga 7

'3 Neither assumption 1 nor 2 is implicit.

Faer A 2 fAfga 2

4 Only assumption 2 is implicit.

014 uep YOS U 550 HieT ol TolcWmid Y 36 Wehs & U T & | Ifg I8 70

Ans

Q.15

Ans

freiaeT ufa a¢ & ofa & gor W O O oSt Fr Jars fogar o 2

A train crosses a 550 m long platform in 36 seconds. How long was the train if it was
travelling at the speed of 70 km/h?

140 HeT
<1140 m
150 HreT
¥, 150 m
160 #eX
#3160 m
525 AT
<4 525m
A e &1 3euas g 599 aar § & gF wh vE &yt ¥ werd
RCIC IR = g | 7 g gx g
The study of human evolution indicates that all of us belong to a single species that
evolved in:

gf9ee Tierr
?{1. West Asia

Question ID :9864494540
Status :Answered
Chosen Option :2

Question ID :9864493278
Status :Answered
Chosen Option :4
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AT

?{"2_ America
Ty uitrar

?{"3_ Central Asia
3TPYeRT

¥, Africa

Q.16 m 12 Ela' T-ﬁl' m gy ol T‘T T Thdl %— \:'Iﬂ.i?h ;:I-.::lu-l 16 'EIZ:I' ﬂ- qﬁ m Question ID :9864494539

s 2o Status :Not Answered
W HHE F TRl § | AR Tl AR Foie a9 oF N § ofg SR oT fiy Chosen Option -
e 81 3R a9 d& UF & a9 U eh Ueh-Ueh ¢ & ol HF ald § oIF
d& AR gt O § e T & A8 @ ST, JF T SR F A T A H
fha=r g¢ oRTeT 2
Pramod can paint a wall red in 12 hours while Brajen can whitewash the wall completely
in 16 hours. If Pramod and Brajen work alternately for an hour each starting when the wall

has just cement on it till when it is completely painted red, how many hours will it take to
paint the entire wall red?

Ans ?‘4'1. 95
v, 89
<3 48
<4 96
Q7 i F BaE & ITET, CrICITE ] Feg T FT OT 97 =T %—7 Question ID :9864494696
3 Status :Answered
According to Ohm’s Law, which of the following is true? Chosen Option :3

fordlt ar & warfega @t arelr fagga arr #r #Er A H FFE &
Ans AT Bl &l

#<, The current flowing through a wire is indirectly proportional to its length.
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2.
fodr AR A ganfga g1 arell faegd omT &t AT AR & iR & FAfGHTr
grar ¢l

The current flowing through a wire is directly proportional to its Resistance.
" 4
x 3.

ey a & warfega @t arelr fagga o $r #mr ax & AW & Few F
e & FAgar g gl

The current flowing through a wire is directly proportional to the Potential Difference
applied across its ends.

Xy
Fdr IR & varfed @ aret ar B A aR & R F 7w F Reaeaw
AT BT gl

The current flowing through the wire is indirectly proportional to the Potential Difference
applied across its ends.

Q.18 ﬁlﬂﬁf@ﬁ ﬂ- ;q- ;ﬁ-ﬁ- m &+ IUTCTET ﬁ?{ %-7 Question ID :9864494484

Status :Answered
Who among the following is the vice-chairman of NITI Aayog? Chosen Option :3

Mg Al
#<1 Narendra Modi
aRfde geaTiar
~, Arvind Panagariya
TS FAR

'3 Rajiv Kumar

Ans
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tag el
X4 Ajit Tyagi

Q19 fezm sram vt AT Rw 71w 3cax RE & @ 5y ves & wfeafea &1 O 3eR o Juestion ID 1986449044
tatus :Answere
=y Ftear 22

Chosen Option :3

T =

SN

o5 g|

The given Problem Figure is embedded in one of the given Answer Figures. Which is that
Answer Figure?

Problem Figure

SN

Answer Figures

|32 &) H
Ans 1 A
<2.D
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Q.20

Ans

0.21

Ans

Q.22

X, ¢
v, B
efeg. ACCUMUATES #, Ifg 9ger aiT & i & T, dray & =Y F Jry,

U B B8 & T, O1ad &F 3Sa & 1Y AT AF g & gy aear

T & G 910 § ©3T HeW HIFET g
In the word ACCUMUATES, if the 1st letter is interchanged with the 2nd, 3rd letter with
the 4th, 5th with the 6th, 7th with the 8th and 9th with the 10th, then the 6th letter from the
left will be:

<L

aVRY

i3 M

<4 A
16% FT$T & Y Ueh &g 1 9T H{eT T 435911 g 987 1 T 330 7 &=

AT o g gfaera fager gar?

The selling price of an item inclusive of a 16% profit was ¥ 435. What would be the
percentage loss if the item was sold for ¥ 330?

<1 12.25
<o 13
<3125
V12

Question ID :9864494779
Status :Answered
Chosen Option :3

Question ID :9864494518
Status :Not Answered
Chosen Option :--

Question ID :9864493845
Status :Answered
Chosen Option :3
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Ans

Q.23

AT | STTEET | WeR | [Avew | || |t
T %

A |200 150 |50 |-

B |- 200 (100 |66.6

C |150 50 [100 |-

D |[120 - 90 |25

The total percentage of illiterates in all the four cities is

City | Populat | Liter | illiter | %o of
ion ate ate literate

A 200 150 50 -

B - 200 100 66.6

C 150 50 100 -

D 120 - 90 25

v, 442

~ 2 44.3

<3 441

X4 445

Tl TR o F R @l g fhder 9faed (v grereE T a9 quitfed ) §72

(round to one decimal place).

Question ID :9864495128
Status :Answerqglage 15
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Ans

Q.24

Ans

Q.25

5442673314884743581. & &H #, dg & 4 & Hihs, F 3T 5 HRX 3uffug 3w &
9ot ®7 § faenfora glar & g 3w a1 3R 3uftea s & fenfaa 27 gar &, &

In the series 5442673314884743581, the number of 4s that are completely divisible by the
number on their right but not divisible by the number on their leff 1s:

?‘{1.0
K'2_3
?{3_2
(4.1
39 e &1 93 F1 S A @HeRor 7 T e (?) & giaeafg

S|

(0.3 +(0.2)®
(0.3-0.2)2

i.?

Select the option that can replace the question mark (?) in the following equation.

(0.3)%+(0.2)*
(0.3-0.2)2

<12
3

i.j

w
SR I R [ R

Chosen Option :3

Question ID :9864494781
Status :Not Answered
Chosen Option :--

Question ID :9864495101
Status :Answered
Chosen Option :4
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fow 7T wafdT o & S F IR W IEEYT g F AUT HL

COULD: BNTKC :: MOULD :

Select the missing term based on the given related pair of terms.

COULD: BENTKC :: MOULD :
Ans  #<1 NITKH
# o CHMFI
# 3 LNKTC
v, LNTKC

026 grer & 3 W FRTET TR FA F e FhT hAr. Ry F v FE Question ID :9864492323

Status :Answered

TSHST & ®T H ﬁl’-gﬁ T 22 Chosen Option :2

Which international tyre company has recently appointed ace badminton queen PV Sindhu
as their brand ambassador?

eifere
#<1 Michelin
[EErzar)

v, Bridgestone

e
3 Pirelli
Fledldeed
/4 Continental
Q.27 A ﬁ;r FT frgar gfaera 18 s %—9 Question ID :9864494856

Status :Answered
What percentage of 1 day is 18 minutes? Chosen Option :1

Ans %1 1.25%

Ans
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Q.28

Ans

Q.29

Ans

Q.30

Ans

X5 12.5%

X3 7.5%

x4 1.8%

<] Fr 3T AEFT FT AT FAT G §, O Tg TI9=AT 9ERAT Fr
oA T 2am § AR FE 3 a7 Fr 3EafT Far g

When large quantities of are consumed, it tends to slow metabolic processes and
to depress the central nervous system.

AT
+'1 Ethanol

AT
?{'2_ Methanol

sgeATT

X 3. Butanol
SraATer
<, Propanol

S gearstt # ¥ &9 O g&ar 12 ¥ 9asT g2

Which of the following numbers is divisible by 12?
#1.93412
<o 73412
V3 83412
<4 63412

T TG @ dtel 2T A Hag W W Bl 5 a7 @ geade et & 15 e
AR Bear 2t & 4 I §, 3§ W 3HH I FAT g2

A body has a weight W on the surface of Earth. What is its weight on a planet whose mass
is 15 times that of Earth and a radius that is 4 times that of the earth?

Question ID :9864494982
Status :Not Answered
Chosen Option :--

Question ID :9864492945
Status :Answered
Chosen Option :3

Question ID :9864494630
Status :Answered
Chosen Option :2
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16
X, W
E

v, 1s
16
®, W
031 12, 18, 20 3k 25 & Ut enfarT g arelr 9/ 37t Fr TEW BIET TEAT FieT Question ID :9864494850

Status :Answered
or %’7 Chosen Option :1

What is the least number consisting of five digits that is exactly divisible by 12, 18, 20 and
257
Ans %1 10800
# 5 11250
# 3 10000
#< 4 10680

032 et Frages 1 T [T H1 wars 17 HéAAeT § AR s7H v T 16 Question ID :9864493016

Status :Answered

HETHET o gl {ﬂi’ ot Hr c‘n’Eﬂé' AT I Chosen Option :4
The length of one side of a rhombus is 17 cm and one of the diagonals was 16 cm. Find the
length of the other diagonal.
16 T
?{'1_ 16 cm
20 HEHET
?{'2_ 20 cm
32 T
?{'3_ 32 cm
30 AR
v, 30 cm

Ans
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033 FfE 3x2 + kx + k = 0 FT IS AN el ¢ al k FT AF F=A@IT T &
frm & armER gem?
If 3x* + kx + k = 0 has no solution, then the value of k will satisfy:

Ans %1 0<k< 12
Ao k> 12
?‘1'_3_k'=1 12
Kak>-12

Q.34 amS.drdr. Afger fhee g w7 2017 & fow 5w gow fFrex &1 gfeww 3k
fordhe B 73 3@ & ®9 # fagea fosar mar g2

Which male cricketer has been appointed as the UNICEF and Cricket for Good
ambassador for the ICC Women’s Cricket World Cup 20177

FoATSd oIS
?{'1‘ Clive Lloyd
O AT
¥ 5 Brian Lara
?‘:"3_ Sachin Tendulkar

AT AT
?‘:"4_ Shane Wamne

Ans

Q.35

Question ID :9864494586
Status :Not Answered
Chosen Option :--

Question ID :9864492429
Status :Answered
Chosen Option :3

Question ID :9864494778
Status :Answered
Chosen Option :2
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37 7T &7 99 &Y 3 o O ¥ geT a8 2

J0o 3
U_D B e L
A B £ B
Select the figure that does not belong in the following series.

Jo 3
U_D_| L

L
A B £ D
Ans &1 C
v, B
<3 A
<4.D
Q.36 gETETT g &Fr @ FHaa &r f? Question ID :9864494617

" : : Status :Answered
The Brownian Motion was discovered by: Chosen Option :2

HsoT 13T
?{'1_ Mandel Brown
e 3
¥ > Robert Brown
T F3A

?{"3_ John Brown

g =g

?{'4_ Isaac Newton

Q.37 Question ID :9864494496
Page - 21
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B JA87 ean gﬂfﬁr T FiT T & o [T 72 gy g? Status :Not Answered

Chosen Option :--
Which of these two water bodies are connected by the Suez Canal?

TFET AR 3R el #PR

# 1. Mediterranean Sea and Black Sea
AT WER HR el AER

¥ 5 Mediterranean Sea and Red Sea

T HAGTERER 3T Tl AGERR
# 3. Pacific Ocean and Atlantic Ocean

FeT PR 3R & WRR
?{4. Black Sea and Red Sea

Q.35 T & 98 AT § S8A 92% el @ar § 31X oW 8% # Wiél, Question ID :9864494946

Status :Answered
gias, grAfd, TA=H Jar 39 ey g gl Chosen Option :2

is the liquud part of the blood of which 92% 1s water and the remaining 8% is

proteins, minerals, hormones, enzymes, and so on.

¥ 1 Plasma

UG, T&Fd HIUIHTT
#< 5 WBC

{Fd ColcolcH
3 Blood platelet

Tl T&d SHIUIRIT

# 4 RBC
0.39 Question ID :9864493203
Status :Answered
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Ans

040 Rrfafle # & P &1 Rehed U 10 R & W guor ufafde & gelir &,

Ans

Q.41

37T EUUT % Fhll 3 32T 30 HEAET & | FIEIATT TSt Foaieled & AN,
SHPT Blehel TS FI T TE T 3T 1T &

The radius of curvature of a concave mirror is 30 cm. Following Cartesian Sign
Convention, its focal length is expressed as:

+30 THET
<1 +30cm

+15 TEHET
<5 +15cm

-30 THET
?{3_ =30:cm

- 15 TérHeT
¥, —15cm

9 SUUT I oS & A &faT T ¥ @ AEr g2

POSITIVE

Select the option that depicts the correct mirror image of the given word when the mirror
is placed horizontally below the word.

POSITIVE
X, AVITI2Ob

X, VILISOb
V5 BORILIAE
X, EVITISOP

Chosen Option :3

Question ID :9864494188
Status :Answered
Chosen Option :3

Question ID :9864494955
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Ans

Q.42

9 &S Ifadrer HAE I1d ¢, ar 371 -&igd-rl gfeRier 303 & ~gae gferre

TFA AT

When a number of resistance are connected in
than the smallest individual resistance.

HATATIL
W', parallel

gifa=t
?{'2. horizontal
Aofr

& 3 series

CIC3]
?{'4_ box

, their combined resistance is less

Status :Answered
Chosen Option :1

Question ID :9864495105
Status :Answered
Chosen Option :3
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VI

fow 7iv = A, Feor, 39 FET Fr gfafaRe =ar § e 93 #AeT FR g,
T 3T @il 1 gfafAfes w=war & e 7@ W g, 3R g, 37 e o#
gyiafafes s=ar g, 5= 73 =or g

ot <l & ar| o) 3R F=9T 8, W AT FR 80, 3 Hol FEA §aC ?

VI

In the given diagram, the triangle represents the set of people who possess a car; the
square represents the set of people who possess a house; and the circle represents the set
of people who possess gold.

What is the total number of people who possess a house and gold but do not have a car?
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Ans X1 V+VI
2o V+VII
ViV
g V+II
043 Ry F T & 77 T Fu Aot g Question ID :9864494640

Status :Answered

)  SeNT=eT 9138T Ueh Hrehr el 91357 ¢ Chosen Option :3
) |@TNH, 3T o oeaa @ e 7T # g & g

) ST STeT & 9.0 (pH) 7% Hoe 2ar gl

IV)  31FeT auT & 9O (pH) 5.6 F HU ar &

Which of the following statements is INCORRECT?
I) Bleaching powder is a pale yellow powder
II) Dry NH; gas turns red litmus blue
IIT) The pH of rainwater is nearly 7
IV) The pH of acid rain is nearly 5.6

IRIFT WATT FUA T ¢
#{1 All of the above statements are correct
D), ID) 3T 1)
X, ), ) and IIT)
shael 1I)
) Only II)
D). IN) AT 1IV)

X, D.I)and IV)

0.44 Question ID :9864494336
Status :Answered
Chosen Option :3

Ans
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e F Hiewst F ¥ 9 fawrew T o Tt i FEw = glfaReE war g

Select the option that represents the number of squares in the following figure.

Ans ?{1_ 32
<y 64
3 30
X416
045 % 16,870 # T AF 9 W, TS gFaR H I 1,080 Fr gifey g & | 3w:hr o Juestion ID 9864494598
gifer &7 gfaera (T uEed o quiifea) fraar gem? Chosen Option :4

By selling a table for ¥ 16,870, a shopkeeper suffers a loss of ¥ 1.080. His loss percentage

(rounded off to one decimal place) is:
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Ans

Q.46

X1 6.1%
X, 6.4%
X3 6.2%
v, 6.0%

Question ID :9864495068

Status :Answered
Chosen Option :2
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Ans

fow 71T g W e & 3t Aoy o, & 39T e ¥ Aeafeieg s o
HEETE T T T HJEROT FHI B

CICE: B

SooX H &% sl Rz, ser ga i demst & sfaw gos
T R 2l

FAR!:
1. O Rt & fwg geg sRERr & JEr @ifge)
2. 0 Fegmerat &t 9 #T & =R

Consider the given statement to be true and decide which of the given courses of action
logically follow(s) from the statement.

Statement:

Many private schools in Bangalore charge more fees than the government-prescribed
limits.

Course of Action:

1. Strict action should be taken against such schools.
2. Such schools should be shut down.
1 3T 2 = T &

?";1_ Both 1 and 2 follow.
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Q.47

Ans

Q.48

Ans

Q.49

Ans

FaeT 1 TEr 2l

+'5 Only 1 follows.

F 13T TE 2 T E
3. Neither 1 nor 2 follows.
FacT 2 WET gl

#< 4 Only 2 follows.
75 3R 405 & &= i 3T FT qUT TEAC o §2

How many three digit whole numbers are there between 75 and 405?

x, 307
x, 304

v, 305

306
<4

goileal H FTaaH Folagld Seddl alell ded Hie g7

The element with the highest electron affinity among halogens is:

v, Cl

X, F

#3 Br

LV
2 auf & Rwafy a¥ 4% \eROT sAer f &T F, Here T 3.675 W o
=T T ghem 2
The interest earned on ¥ 3,675 at the rate of 4% simple interest per annum for 2 years will
be?

<1 T 28950

Question ID :9864494809
Status :Answered
Chosen Option :4

Question ID :9864494624
Status :Not Answered
Chosen Option :--

Question ID :9864494517
Status :Answered
Chosen Option :4
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<o T 202
#3 T 28850
v, T 294
Q.50 fgw 717 vy W 9O I HAT qg dId +I & o pU ST 9Tl Fid FRIFH FT F7 Question ID :9864495145

Status :Answered
ifhd & ¥ 3FTEOT HAl F ¢ Chosen Option :2

FYUA:
AT # ferares 303 ot 9afe qlispl & SedaArer #d § 3R BT & amyfas adet
U 39 el g

an] T I e FEEA:
1. RIewrl & Teiw RIaTor &1 396l 9gid sgem gq JifaAfaearg fhar sien =@ifge)
2. 3mfeiss aliet § ger arer fReter & fow dae afg gl a@rige

Consider the given statement to be true and decide which of the courses of action logically
follow(s) from the statement.

Statement:
Teachers in India still teach using traditional methods and are not aware of modern

methods of teaching.

Course of Action:
1. Orientation should be done for teachers to change their method of teaching.

2. There should be a pay hike for teachers who teach in modern methods.
1 3k 2 gt 3regEeT X Bl

?{1. Both 1 and 2 follow.
Fael 1 HTEOT Hal g

Ans

+', Only 1 follows.
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a1 & 2 ITET Ha gl

3 Neither 1 nor 2 follows.
heel 2 EROT Ll gl

4 Only 2 follows.

Q51 gwar 273965 H 3 & TANT A HR g A F 3R = &2 o Juestion ID :9864494853
What is the difference between the place value and face value of 3 in 2739657 Chosen Option :4
Ans  #<1 2035
<, 3962
<30
v 2997
Q.52 Question ID :9864494727

Status :Answered
Chosen Option :4
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39 fa&eq &1 93 &8 S v 3w 7y & et fr gear & ufafafecss sar
gl

Select the option that represents the number of squares in the given figure.

Ans 1 13
<515
<314
v, 17
Q.53 Question ID :9864494759

Status :Answered
Chosen Option :1
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R TR R N IR AT d S T F scR e s v = F a
P TT FUT TATT 2

FIT AT q&uT & sfaeAlcHs & § Aad 872

YA
1.WM§%Wﬁmﬁﬂﬁmaﬁmﬂﬁml
2. el AFE A AGAT J&ST % S g

Read the following question and decide which of the given statements is/are sufficient.

Are women emotionally stronger than men?

Statements:
1. Women think men’s thinking cannot change any problem.
2. Women are equal to men in all issues.
W FT ScX a7 & _w a ar 1, 7 & 2 gaeg &
w1 Neither 1 nor 2 is sufficient to answer the question.
el 1 qaATeg & e 99T &7 3ol & & [oIT 37ehel 2 9T o1al gl
?{"2_ 1 alone is sufficient while 2 alone is not sufficient to answer the question.

3Fel 2 qATeT § e 92T T 3ol & & (oI 3fekel 1 9T 18T 2l

?{'3. 2 alone is sufficient while 1 alone is not sufficient to answer the question.

Ans
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99 T 3cadl & & Tow 1 3T 2 2T At 9arcg 2

/<, Both 1 and 2 together are sufficient to answer the question.

.54 ¥ T i & T uestion ID :9864494678
054 uep g &F AMEF H 15 e AR 22 7Ugd § SR FedA HEAT T g7 St§u5 tion ID :9
There are 15 protons and 22 neutrons in the nucleus of an element. What is its mass Chosen Option :2
number?
Ans 1 15
v, 37
<3 22
X4 7
Q.55 Question ID :9864494715

Status :Answered
Chosen Option :2
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39 O &1 99 Y S T §Hg ¥ "@efeg a1 2

D | &

A B C D
Select the figure that does NOT belong in the following group.

D | &

A B C D
Ans ?‘~1. B

v, C

<3 D

<4 A

0.56 wes U= (tendon) fohas s=ITar ST 872 Quest'%f;;a;‘{ﬁ%‘t‘ﬁﬁvifed

A tendon is made up of: Chosen Option :--
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Ans fear o= Fae BrEaT
#1_ inelastic connective tissue fibres

e 3t 31fEer gatsh a= wEsT

?";2_ inelastic and elastic connective tissue fibres
ol Slotate] BISaT

'3 only collagen fibres

HTEUT IS Fdsh BEaT
~ 4. elastic connective tissue fibres
Q.57 Question ID :9864494716
Status :Answered
Chosen
Option :1
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feT 1T HueT H T AT gU TER HY 3’ 97 F 6 e aronsit 7 @
Pl & gRoT dafaea 2

C DN
oz & ve ool Toe & el AAOF av T 3=l FrF 150% FeT &Y B

YOI :
1. 31T FrH & FROT BT FHol 9ol THd ol
2. 33f off oI H Toher AT AT & THAT B

Consider the given statement to be true and decide which of the following assumptions
is/are implicit.

Statement:
A leading school in Mumbai has increased its fees by 150% from the next academic year.

Assumptions:
1. Students may change school due to more fees.
2. The school may still have the same demand among the students.

, hddl YURUT 1 3afafed gl
ns
1 Only assumption 1 is implicit.
Fao gROT 2 & afafed gl

#, Only assumption 2 is implicit.
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aldr grene 1 39X 2 siafafea g
<5 Both assumptions 1 and 2 are implicit.
a7 @ UROT 1 A7 9RO 2 Hafafed g

v , Either assumption 1 or 2 is implicit.
058 FFeY 2017 H AR & TGl AT ICIHAT FFHA H 3 7T T
# fopar mr am
Which state organised India’s first Tribal Entrepreneurship Summit in November 20172
ISInip [
v, Chbhattisgarh

ARYES
# 5 Tharkhand
FHifZem
# 3 Odisha
afegd S
<, West Bengal
059w weaet & Yol Wi HIUN HT AT 116° g1 AT FHI0T HT AT fahda 2
Five angles of a hexagon measure 116° each. What is the measure of the remaining angle?
Ans %1 140°
<, 126°

X3 116°
X4, 152°

060 37 Tgehoqd T TIA HY AT [oFd HieT H 379 T

Ans

Question ID :9864492238
Status :Answered
Chosen Option :1

Question ID :9864494845
Status :Answered
Chosen Option :1

Question ID :9864494725
Status :Answered
Chosen Option :1
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A
A B C D

Select the option that will come next in the following figure series.

o |G| .
AR A
A B 5 D
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Ans W ¢ C
<, D
<3 B
<4 A
061 ves et ol ORI aTell el Tl & g $S AT de alsdl ¢ dlleh

FT FAScd 3Y & Tl od H HSE |

A high jumper runs for a while before taking a high jump so that the inertia of

helps him take the long jump.
fear
?{'1_ direction
HAHTH
?{2. rest

o

¥ 3 motion
HTh[T

X, shape
062 7 Tk I &1 HIT et I[AT T Foam ST, o T TfAst F=r:
If the momentum of a body is tripled, its KE will:
Fafkafda wah

?{1_ remain the same
HeT AT T it AT g1 S|

Ans

Ans

«', become nine times its original value
Hel AT T B T[T &1 <290

?{'3. become six times its original value

Question ID :9864494669
Status :Answered
Chosen Option :3

Question ID :9864494952
Status :Answered
Chosen Option :2
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H AT T il T[T BT S|

# 4 become three times its original value

Q.63 Question ID :9864494750
a1/ P C B M Status :Answered
e Chosen Option :1
W 70 90 50 85
X 55 80 95 60
T 60 20 90 40
z 90 80 40 65

G afmaR fwdt P, C, B3k MFar oAt W, X, Y 3R Z earr
9o el T Siafaftcg aar gl 9eds faug & 31f¥+asw 3% 100 gl

fow 71T sl & IR W, W & P, C 3T B & o fohae wfaeg 3= &

Stu/

Sub P 5 B M
W 70 90 50 85
X 55 30 95 60
Y 60 20 00 40
Z 20 30 40 65

The given table represents the marks obtained by four students W, X, Y and Z in four
anthiartea P ' R and A with the mavimim marle in each athiect heine 100 Page - 42
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LAY | e LA L s A LGLANE LTda VT LLAL Ladtw LeaLn AL LALLM LA | e L L T Ly L

Based on the given data, W’s marks percentage in P, C and B combined is:
Ans w1 70
Ko 72
<3 75
X, 68
064 Jerer orer, Toeglet a¥ 2017 A I% QUM YRR 9od faar or, 5w Qe @

5

Roshan Lal, who won the Guru Dronacharya Award for 2017, is associated with which
stream of sport?

27
/<, Hockey
Casll

Ans

X, Wrestling
CICIEIC)

W3 Volleyball
Heare

?{4_ Football
Q65 gfr RE =v 31 W Bl wafy awer v 39T s AT aF 5us at T & W
FUT YA I=aT 272

If the frequency of a sound wave of given velocity is increased, how will it affect its
wavelength?
Ans

Question ID :9864492335
Status :Answered
Chosen Option :2

Question ID :9864494974
Status :Answered
Chosen Option :4
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Q.66

Ans

Q.67

Ans

T $5 3 FEE v T g A a e
/4 Wavelength will keep increasing and decreasing alternately.
T &0 W FHIS THT AT I29
/5 The wavelength will not be affected.
SHHT T e H Jhg gl
K 3 Tts wavelength will increase.
SHHT T ST H FHAT =
W', Its wave length will decrease.
TH WHSIT et ABC & FH&IUT B X ¢, 3T tan A== &1 If5 AC = 25
HEHET &, ar BC & oEs haer 87

A right-angled triangle ABC is right-angled at B, and tan A=§. If AC =25 cm, the length
of BC is:
24 HAHRT
?{1_ 24 cm
20 HaHRT
¥> 20cm
18.75 &R
#'3 18.75 cm
33.3 #EHRT
# 4 33.3cm
STH W HiT a1 e 5T &1 38E0r 767 ¢ ?
Which of the following is NOT an example of potential energy?
T g A w@fEd BT A

?{1. Water stored in a dam

Question ID :9864494847
Status :Answered
Chosen Option :2

Question ID :9864493242
Status :Answered
Chosen Option :4
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Uk 3T AT gt
?{2. A raised hammer
# 3 A compressed spring
Sgr g3 STel
v, Running water

068 T AT Sl FI AT A R I IR T T N F T & (|m) ey Question ID :9864495034

. @ & . Status :Answered
TFACAT HT THEIT T § IHJET (FIAT §) A 2l Chosen Option :2

LG E
TN el 95 g1 F5 93 Taf

forsd:

1. $T Tf 9% &

2. G 93 F gl

Consider the given statements to be true and decide which of the conclusions logically

follow(s) from the given statements.

Statement:
All fruits are trees. Some trees are birds.

Conclusions:
1. Some birds are trees.

2. Some trees are fruits.
Ans
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069 mrerait & iy Scuree F AT F FAT FHFT ST 82

Ans

Q.70

Ans

et fashd 1 3ET0T T B

?{'1. Only conclusion 1 follows.
1 3R 2 @&t o =T &
¥ > Both conclusions 1 and 2 follow.

I 1 AT 2 HJEOT FHL g

?{3_ Either conclusion 1 or 2 follows.

aer fshy 2 3TEROT T B

< 4. Only conclusion 2 follows.

What is the process of production of ovum in the females called?

HSAAA
w1 Oogenesis
£y
?{2_ Adolescence
e
?‘:"3_ Menarche
ETGRIE]

-

?{'4_ Menstruation

gl # Afoards T A TE=o 9RT tE Feo 9ga g9 & HU F T H
fraer  smEe R $r T Fr 82

Who launched ‘Shramdaan movement’ as part of Swachh Bharat and Swachh Puducherry
initiative at Seliamedu village in Puducherry?

Question ID :9864495007
Status :Answered
Chosen Option :1

Question ID :9864494447
Status :Answered
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Affeae AR e 9
¥ 1 Lt Governor Kiran Bedi

ﬁﬁ'@rfﬂn

&5 Nitish Kumar
YTl SATESHT
?‘:'3_ Prakash Javdekar
TNT 980
4 Rajiv Bansal
Q71 oregl % fuw a1T A3 & MUR T HJIEUd g T Question ID :9864495043

Status :Answered
Chosen Option :3

G : g o forare
Select the missing word based on the given related pair of words.

Butter : Milk :: Book :
HEOT

/1 Chapter

?{"2_ Printing
CAEE]

v 3 Paper
CECED

?{4. Author
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Status :Answered
Chosen Option :1
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3RS T ST=A 25 STAadT, 2015 I §HT T, Sd{eh IEAT HT F=A 38h 554 fe
die; g3 oT| 37TEAT & ST=A fohg al & gam ar?

Arzoo was born on 25% January 2015, while Aastha was born 554 days later. On which
date was Aastha born?
1 I, 2016

v, 1 August 2016
31 Je13, 2016

X, 31 July 2016
3 319TEd, 2016
X5 3 August 2016
2 33, 2016
/4 2% August 2016

Q.73 Question ID :9864494159
Status :Answered
Chosen Option :4

Ans

Page - 48


https://mail-attachment.googleusercontent.com/attachment/u/0/?ui=2&ik=23510533e2&attid=0.22&permmsgid=msg-f:1611835636219381697&th=165e63f8a52c07c1&view=att&disp=inline&realattid=f_jm5x22gg24%E2%80%A6

9/17/2018
g A ge & Afafea e 7 Re ow 3w, & ane ggfea &1 srgaror
T 2, 37 FeT & w7 H 5% By ¢ 7 97 Rew (?) @ wiawnfg
forar 51 weRaT Bl

Assuming that the numbers in each of the following figures follow a similar pattern, select
the option that can replace the question mark (?) in figure C.

Ans &1 8
X, 6
<3 14
v, 10

A ™ o Status :Not Answered

HET wgrardrer & ®9 7 o S ar g Chosen Option :--

Name the only US president who also served as the Chief Justice of the US Supreme
Court.
forze &t SATa
# 1 Lyndon B. Johnson

Ans
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faforosm gles awe
¥'5> William Howard Taft
i e verw
# 3 John Quincy Adams
STeRT Te
X, Zachary Taylor

Q.75 5041 T agﬁ' pa e ﬁ.,—l_ﬁn' ~ Question ID :9864494513
e %- ) Status :Answered

What is the square root of 50412 Chosen Option :1
Ans W1 71
<5 81
<3 79
4 69
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